EARAROBREBRT —5 XN—ZXBISH—F

2024%688H (+) SEHAETH

M C2— 138 C2 HSFH—Ig BRI
[#&%] 17&:400,000 3  237#&:128,000 W  3#&:72,000 ™  43%&:48,000 ™  53&:32,000H
B % B FrE R/ I HE %F (T8 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
s o~ HPEA : -5-6- - REE (B8
1 ) | HY IRV A H o4 aee 1.(3_4).6 4-5-6-5 | 40.1 3 (4_322) e i)
RIAYVISvya BRVI«F—L T
o4 | TSR 1:34.8 1-1-1-1 | 40.8| — 7 | 512 |LUEZEA (£E)
2 6/—FIU7 56.0 (1 1/4) (-3 |NEAZ
R:VIVN=ZT—bk BRLFUR BHBUS
s Y P i liEE 134, -4-4- . - FEBT (E8B)
Slglg| X1vamnvv vY 5| PR 1(@34%? 5-4-4-2 | 40.5 1 (4_3$ =
RiT—ILRI—-Z B:LAYR=Uv T e
— w o4 | H0EAE 1:34.9 7-7-7-7 |40.1| - 8 | 412 |=HEA (£E)
4178 | LTI XAFY 54.0 @) 4y |EXSE
R:d=ILRYwT B:HFvytfo o BT K
S — FREZ} : -8-9- - Z/BEA (EE)
5 4| A RXT3—=A07« LR e 1'(325)'3 696 |42 ? (4_33 TLEXE B
R:FA—RITIRT« BFVIIIY— JH BXR
S — 4 4 | AKX 1:35.5 6-6-5-8 | 41.1| — 2 qn4 | MHFREE (EEH)
6155 XM¥3vFV 54.0 (3/4) © |HEXE
RINIVIRT AV I DA UT— BiAAY3IN-=X i —=
< o ~ &S : -2-3- - LLEH (k8
717| 7 | HvIRU—2DY i 4 54.0§E 1(/3;)5 3-2-3-3 | 41.3 4 z:g;) pEn (£%5)
RZREWN=T B:rYIAYSYN—h VYA FHUS
FILRE 3 -3-2- - TLRE (E8)
gl1l1|R9r7vFO- L e 1(735131;3 2-3-2-4 | 41.3 5 (4_911) éﬁ%m &
RinZ—ka—R B:7RIAP7O— =YV T 7—L
7 | IS 1:36.0 9-9-8-9 |41.1| — 6 384 | BEABET (IEH)
9/8|10|YMILTZFZU— # 54.0 212 o | @ }PN%&H
R:Iv IRy b B:YLAYYTIF7U— R 5
\ v 5 | gt 1:37.0  |10-10-10-10| 41.7 | — | 10 | 482 |HHEHE (£E)
EH 3| 20vYT 7> | A830 ©) © | B JPNEH
R h—EVRILRY 8B:OYU—Y SPEYS
@ 11— —&BIRfI
12—3— 16,1,7,2,9,5,8,4,10,3
20—7F— 6,7,1,9,2,5,8,4,10,3
BEIES /S 6,1,7,9,5,2,8,10,4,3
40— — 6,9,7,1,2,4,8,5,10,3
@ Ih\R=E
B B 2 1,210 | | 94 & 2-6 1,750M = 2-6 3,910 3EE 2-6-9 4,350
B ks 2 3604 2-9 540 2-8 6609 3iEH 2-6-9 29,190M
6 240M 6-9 7304 F5 & 2-6 3,300/ 2-9-6 23,140
9 1301 2-9 710M
BB 2-6 7,270M
2-9 1,730H

ABIC OV TRUTEREERRODDZE. THRIIZEL.




